PSAA

NPK worksheet

Given a Bag of Fertilizer with an NPK rating of 12-15-5. Answer the following questions knowing that the Bag weighs 50 lbs and you purchased it from Walmart for $21.56. 

1. What is the rating amount (in lbs) of Phosphorus? ______________________

2. What is the total active ingredient weight in this bag? ________________________

3. What is the Value of the active ingredients in this bag? ________________________

4. What is the percent of Nitrogen? _________________

5. What are the pounds available for potassium? _______________________

Given a Bag of Fertilizer with an NPK rating of 20-10-0. Answer the following questions knowing that the Bag weighs 25 lbs and you purchased it from Walmart for $40.00.

1. What is the MacroNutrient that is not present in this bag of fertilizer? ____________

2. Which Macro Nutrient is available in the large percent? _______________

3. In pounds how much active ingredient materials are present? ___________________

4.  What is the Value of the active ingredients? ___________________

5. How many lbs of this bag are inert materials? ______________________

Given a Bag of Fertilizer with an NPK rating of 25-0-5. Answer the following questions knowing that the Bag weighs 50 lbs and you purchased it from Walmart for $21.56. 

1. Looking at the percents of MacroNutrients provided, what could potentially be wrong with your plant? ________________________

2. How much of the bag is active ingredients? __________________lbs

3. What does the bag have the smallest present amount of? ___________________

4. Why add potassium if you are worried about adding the Nitrogen? ______________________________________________________________________

5. What is the price that you must pay for the inert materials? _____________________

6. Why do you have the inert materials if they don’t do anything for the plants? ________________________________________________________________________________________________________________________________________________

Given a Bag of Fertilizer with an NPK rating of 25-20-10. Answer the following questions knowing that the Bag weighs 75 lbs and you purchased it from Walmart for $52.56. 

1. In all the examples – why has potassium been provided in the smallest relative amount? _______________________________________________________________

2. What physical features would you expect to see from the plant that needs Nitrogen? ______________________________________________________________________

3. What physical features would you expect to see from the plant that needs Potassium? ______________________________________________________________________

4. What physical features would you expect to see from the plant that needs Phosphorus? ______________________________________________________________________

5. What is the % of N available in this bag? _________________________

